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Reasoning Section

TEST v
REASONING ABILITY

Following questions are based on five words given below :
WIT BAR URN ELF TOP

(The new words formed after performing the mentioned operations may or may not nacessarily be
meaningful English words)

Ifin each of the words, all the alphabets are arranged in English alphabetical order within the wo:d,
how many words will NOT begin with a vowel ?
(1) None (2) One (3) Two (4) Three {5) More.than three

How many letters are there in the English alphabetical series between second letter of the word
which is second from the right and the third letter of the word which is third from the left of the given
words ?

(1) One (2) Two {3} Three (4) Four (5) Five

If in each of the given words, each of the consonants is changed to previous letter and each vowe! is
changed to next letter in the English alphabetical series, in how many words thus formed will no

vowels appear ?
(1) Nene {2) One (3) Two {4) Three (5) More than three

If the last alphabet in each af tha words is changed to the next alphabet in the English alphabetical
order, how many words having two vowels (same or different vowels) will be formed ?
(1) None (2) One {3) Two (4) Three {5) Four

If the given words are arranged in the order as they would appear in a dictionary from left to right,
which of the following will be fourth from the left ?
(1) wiT (2) BAR {(3) URN (4) ELF (5) TOP

Veena walked 5m tawards north, took a left turn and walked 7m. She toak a left turn again and
walked 8m before taking a left tum and walking 7m. She then took a final left turn and walked 1m
before stopping. How far is Veena from the starting point ?

{1) 3m (2) 6m (3} 4m (4) 2m (5) m

In a certain code IDEAS is written as HEDBR and WOULD is written as VPTMC. How will RIGHT be

written in the same code 7
(1) QJHIS {2) QIFGS (3) SHHGU {4) QJFIU (5) QUFIS

Study the following information lo answer the given question.

Amongst five friends, A, B, C, D and E, each bought a mobile phone for a different price. A paid more
than both C and E. Only B paid more than D. E did not pay the minimum amount. E paid ¥ 8,000 for the
phone.

Which of the following is true with regard ta the given information ?

{1) Only two people paid a price less than the price paid by B

{2) E paid mare than C and B

{3) No one paid more amount than that paid by C

(4) Amongst the five friends, C is most likely to have paid T 9,000 for the mabile phone
i5) None is true

If D paid ¥ 17,000 more than the price paid by E, which of the following could possibly the amount

paid by A?
(1) 735000  (2) T16,000  (3) T7500 (4) T26,000  (5) 6,500

Who pald the third highest amount for the mobile phone ?
(1) A 2B (3 C (4) D (5 E
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In each question below are iwolthree stalements followed by two conciusions numbered 1 and If. You
have totake the two/three given statements to be true even if they seem to be at variance from commonly
known facts and then decide which of the given conclusions logically follows from the given statements
disregarding commonly known facts.

Give answer (1) il anly conclusion | follows.
Give answer (2) if anly conclusion If follows.
Give answer (3) if either conclusion | or conclusion |l follows.
Give answer (4) if neither conclusion | nor conclusion Il follows.
Give answer (5) if both conclusion I and conclusion ! follow.
Statements : All kites are birds. All aeroplanes are kites. No bird is a fish.
Conclusions : 1. No fish is a kite.
[l. All aeroplanes are birds.
Statements : Some wires are fires. All fires are tyres.
Canclusions ; |. Atleast some tyres are wires.
Il. Some fires are definitely not wires.
Statements : Noclip is apin. All badges are pins.
Conclusions : 1. Nobadge is a clip.
II. All pins are badges.
Statements : No colour is a paint. No paint is a brush.
Conclusions : . No colouris a brush.
II. All brushes are colours.
Statements : All stars are planets. All planels are galaxies.
Conclusions : |. All galaxies are planets.
Il. All stars are galaxies.
Study the following arrangement carefully and answer the questions given below :
BUBDCEDBDEUBADCBEACDAEBAUACDBCAZ®
How many such pairs of alphabets are there in the series of alphabets given in BOLDL (Ato E) inthe

above arrangement each of which has as many letters between them (in both forward and backward
directions) as they have between them in the English alphabetical series ?

{1) None (2) One (3) Two {(4) Three (5) More than three
Which of the following is the eighth to the left of the twentieth from the left end of tho atava
arangement ?

(1 C 2 E 3) U (4) B (5) A

How many meaningful words can be formed with the alphabets which are first, second, fifth and sixth

from the left end of the above arrangement ?
(1) None {2) One (3) Two (4) Three (5) Mare than three

How many such consonants are there in the above arrangement each of which is immediately
preceded by a vowel and also immediately followed by & consonant 7
(1) One {2) Two (3) Three (4) Four (5) Wicre than Four

If all As are dropped from the above arrangement, which of the following will be eleventh from the
right end of the above arangement ?
(1) E @C 3) D (4) U (5 Mone of these
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Study the following information to answer the given questions :

Eight people are sitting in two paraliel rows containing four people each, in such a way that
thers is an equal distance between adjacent persons. In row-1 P, Q, R and S are seated {but not
necessarily in the same order) and all of them are facing south. In row-2 A, B, C and D are seated (bul
not necessarily in the samae order) and all of them are facing north. Therefore, in the given sealing
arrangement each member seated in a row faces another member of the olher row.

R sits second to the right of P. Ais an immediate neighbour of the person who faces R. Q sits
second to left of the person who faces A. Only one person sits between B and C. C does not face P.C
does not sit at any of the extreme ends of the line.

Four of the fallowing five are alike in a cerlain way based on the given seating arrangement and thus
form a group. Which is the one that does not belong to that group ?

mA 2P (8 R (4) B (5) S
Who amongst the following faces B 7
(1) P (2 Q (3) R 4) S (5) Cannot be determined

Which of the following is true regarding S 7

(1) S sits exactly between R and P

(2) S sits second to left of Q

(3) Pis an immediate neighbour of S

{4) D is an immediate neighbour of the person who faces S
(5) Noneis true

Who amongst the following faces Q ?

(1) A 2B (3) C 4) D {5} Cannot be determined
Who amongst the following faces tha person who sils exactly between B and C ?
NP @ Q 3R 4) 8§ (5) Cannot be determined

Each of tha questions given below is based on the given diagram. The diagram shows three figures
each representing Engineers, MBA degree holders and Bank employees.

A

++ Bank Employees

C -1*Engineers

1 MBA degree holders

Which of the foliowing does the group B represent in the above diagram ?

(1) All such engineers who are not MBA degree holders

(2) Such bank employees who are engineers but nat MBA degree holders

(3) All such engineers who are MBA degree holders but are not hank employees
(4) All such MBA degree holders who are not bank employees

(5) All such bank employees who are engineers as well MBA degree holders

Which of the following groups represents all such Bank employaes who ara not MBA degres
holders 7

(1) GA,EandC (2) A,EandC {(3) AandE {4) Only A (5) Aand C
Which of the following groups represents all such persons who are MBA degree halders but are

neither engineers nor bank employees ?
(1) Only G (2) Only D (3) DandG (4) OnlyC (5) Not represented in the diagram

Which of the foilowing represents such engineers who are MBA degree holders but not bank

employees ?
(1) Gand B (2) Only F (3 D 4) G {5) Mone of these
Which of the following correctly represents such engineers who are neither bank amployees nor MBA

degree holders ?
(1) Only G (2) CandB (3) Aand D (4) Cand G (5) Only C
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u.151-160. Ffoiflaa & wer o aft o9 ot w1 @t aifet sl & nd o sov ool § 9 Sl e angpla R SR
&1 U9~ 3ieidl b it dic 3 ared ?

Q.151-160. Ineach of the questions given below which one of the five answer figures on the right should come afiur
the problem figures on the left, if the sequence were continued ?

W 3PN / PROBLEM FIGURES TR APAT / ANSWER FIGURES
! ] ! wg"n_: B B 8 1 e 1 B 5
2 TEDVT L pTOoT 4

w/Q.151. TF;VJ Pli‘w ﬁ i F]_: VJ:.P DTEJVE i PT;J\J VJEI‘T

4 | 4 |3veeT 5 5 5 5 ]____5____ 5 5

1 2 3 4 S
B P 2[p < elp 2 € anpzaxaar‘ﬂssfiﬁ
7/Q.152. LR 3 LB L » R S 41 2 R L XS 1 49 L 4
5T 4 L K ﬂaca:_.pasclaswsc

1 2 3 4 5

. () ! 0 (Z3 £3) i 3 ese5) i
wos | ) €| €D =D 6D | D : l
1 _ & I Sy

1 g 3 4 5
e [EHESCHON BN
ey e | TARN g T

oo a A
. 4 = )
9/0.155. | © ! A 1B 0 A . ¥ a \”A
i fa a A [5] .D
2 3 4 9
— ]
£

T | L— Q . K@ Fc’i\?___ ?a“' mlq %
(a0 RO

L [
2 3 4 5
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WS agfadi / PROBLEM FIGURES TR FHA / ANSWER FIGURES

~ [AIAVIVIA] [AAAAN

A w9 ®3  la b A uA BA  njA

by

%/Q.158.

3|2[3]¢]8] [2[7Ie]p]=

7 NN zfg% f:‘;}%v SR
7.4/Q.159.
NN 2N 4 7R 2] N 2NN ZN IR Y

1 2 3 4 5

aellt 6 3ESESERERESEETE:

1 2 3 & 5
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ANSWER:
121 2 141 1
122 5 142 1
123 3 143 5
124 3 144 1
125 3 145 2
126 146 5
127 5 147 3
128 5 148 2
129 2 149 2
130 1 150 4
131 2 151 5
132 1 152 2
133 1 153 1
134 3 154 5
135 2 155 2
136 5 156 1
137 4 157 4
138 158 1
139 4 159 2
140 1 160 4




